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31-Jan-2024 Shift-2
Physics

1. If for a given planet, Rp = %RE, and Mp = %ME, then find the Vegeape
for this planet if the escape velocity of earth is 11.2 km/hr.
Ans: 7.9

2. A 1000 resistance and 200Q) resistance is connected in a series
with 4 V battery. Voltmeter across 1002 reads 1 V. Find internal

resistance voltmeter.
Ans: 200

3.5 A current is passing through a square frame of side length 1 m,

then find the magnetic field at the center of this frame.

ANS: 44/2x 1076 T

4. Find the value of T; and T, respectively in the given setup?

T T F=80N
5kg 3kg 2kg —

Ans: 40, 64
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5. 1000 drops of surface energy E, coalesce to form 1 bigger drop of

surface energy E,. Find the value of% x 103.
1
Ans: 100

1 2
6. If |CPG2hz| = [M] then find the value of P.

Ans: 1/2

7.Find voltage drop across 1.5k() resistance.

Ge Si 150
> >
2.5 kQ
1
5V
Ans: 1.50

8. A block of mass 1 kg is ascended an inclined plane by distance of
10 m as shown in diagram, with the help of force of 10 N along the

incline. Find work done against the friction.

Io% /?
p=0ﬁ
(@) 10]

(b) 5v3]
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(c)S]
(d) (10 — 5v3)]

Ans: a

9. The slope of graph between stopping potential (V,) and Frequency
of incident photon (f) in photoelectric effect is ( h = Plank's Constant,
e = charge on electron)

a)h/e

(b) h/2e

(c) 2h/e

(d) e/h

Ans: a

10. An electron revolves in a circle of radius r around an infinitely long

uniformly charged wire (linear charge density = A.). Find its time period.

m

Ans: 2R m

11. A disc of moment of inertia 4kgm? is spinning freely at 10rad/s. A
second disc of moment of inertia 2kgm? and angular speed 4rad/s
slides down the spindle of the first disc and they spin together. What is

the change in kinetic energy of the system.
Ans: 24)

12. An electron in 51" excited state of He*atom moves to 15t excited

state. Find the number of possible spectral lines formed.
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Ans: 10

13. Unpolarized light of intensity I, passes through two polarizers
whose axis are at an angle of 45° with each other. Find intensity of

transmitted light.
Ans: 1,/4

14. An electron is revolving in n orbital of H atom. Its magnetic
moment depends on the radius of orbital as:

enh
4[Im

Ans:

15. Process A and B represents:

(1) A: PV! = constant, B: PV! = constant
(2) A: PV = constant, B: PV? = constant
(3) A: P V? = constant, B: PV™! = constant
(4) A: P V? = constant, B: PV! = constant

Ans: b

16. The Vernier scale of a travelling microscope has 50 divisions which
coincide with 49 main scale divisions. If each main scale division is
0.5 mm, calculate the value of least count.

Ans: 0.01mm
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31-Jan-2024 Shift-2
Chemistry

Which of the following has maximum ionic character?
a) KcCl

b) AgCl

c) CaCl,

d) BaCl,

Ans: a

Statement [: Sg disproportionate into H, S;03 and S5 in alkaline medium
Statement II: C10zundergoes disproportionation in acidic medium

a) Statement I is correct but Statement I is incorrect

b) Statement I is incorrect but Statement II is correct

c) Both Statement | and Statement II are correct

d) Both Statement | and Statement Il are incorrect

Ans: a

Number of isomeric products formed by monochlorination Of 2-methyl butane in
presence of sunlight is
Ans: 6

From the vitamins A, B-1, B-6, B-12, C, D, and K, the number of vitamins that can be stored in
our body is

Ans: 3

If 5 moles of an ideal gas expands from 10 L to a volume of 100 L at 300k under isothermal
and reversible condition then work, W, is — x J. The value of x is (evenn = 8.314 ] K~!
mol ™)

Ans: 12

Number of moles of H* ions required by 1 mole of MnOj3 to oxidise oxalate ion to
CO, is
Ans: 8



10.

11.
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A compound (x) with molar mass 108 g mol~! undergoes acetylation to give product with
molar mass 192 g mol™!
Ans: 2

The molarity of 1L of Orthophosphoric acid (H3P0,4) having 70% purity by weight (specific
gravity 1.51) is (Molar mass of H3PO, = 98 g mol™1)
Ans: 11

Identify the name reaction

CO/HCI

CHO

(a) Rosemond reaction

(b) Stephen reaction

(C) Etard reaction

(d) Gattermann - Koch reaction
Ans: d

Quantum numbers for the outer most shell electron of potassium is?
@n=41l=0m=0,s=1/2
b)n=41l=1,m=40,s=1/2
c)n=3,1=0m=0,s =1/2
dn=41l=0m=1s=1/2

Ans: a

NH,
The Azo - Dye is formed, when X reacts with ©© the structure of the
Dye is

sulphanilic acid NaNO, + HCl
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(© HSO; —@—N =N @ NH, (@) HSO3 @—N = N4@— NH

12. Statement I: Sg disproportionate into H; S,03 and S5 in alkaline medium Statement Il:
ClOz undergoes disproportionation in acidic medium
(a) Statement | is correct but Statement Il is incorrect
(b) Statement | is incorrect but Statement |l is correct
(c) Both Statement | and Statement Il are correct
(d) Both Statement | and Statement Il are incorrect
Ans: a

HO,S N=N NH HOsS @ N :N_@_ NHz
(a) ’ - ? (b)

Ans: a

13. Half life of a first order reaction is 36hr. Find out time (in hour) required for concentration of
reactant to get reduced by 90%.
Ans: 120

14. Order of electrophile substitution

Cl CH,3 NO,
a b c d
Ans:b>c>a>d
15,
3
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DCl
CH,
a) b)
Cl D CH, D Cl CH,
D
0 J;\k d)
Cl Cl CH,
Cl CI{_‘
Ans: b
16.
Br
@ Conc HNO, > A Conc NaOH > B
Conc H,S0,
Product B is
Br Br NO
: HO
OH Br OH
A B C D
Ans: ¢

17. Statement-1: Among 15 group hydrides, reducing character decreases from NH; to BiH,
Statement-2: E; 03 and E, O are always basic (Where E is group 15 element)
(a) Both statement 1 and statement 2 are correct
(b) Statement 1 is correct and statement 2 is false

4



Infinitvy .. Sri Chaitanya

Learn . Educational Institutions

(c) Statement 1 is false and statement 2 is correct
(d) Both statement 1 and statement 2 are false
Ans: d
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31-Jan-2024 Shift-2
Maths
f(7%)

Let f: > R — (0,) be increasing function such that Lt, ,,—— =1 then

X—00 f(x)

acrer 1
a)o
b) 4
c)1

4
a) %
Ans: (a)

(5x%)
f(x)

- 1} is equal to

z; +z3 = 20 + 15i then |z{ + z3| is equal to
(a) 15V15

(b) 75

(C) 30V3

(d) 25v3.

Ans: (b)

a = sin"!(sin (5)) and b = cos(cos (5)) then a? + b? =
2
Ans: (8m -40 ™ +50)

A coin is biased so that a head is twice as likely occurs as a tall. If
the coin is tossed 3 times , then the probability of getting two tails
and one head is

a) g
b)g
€) ;2;

1
d) -
Ans: (b)

The number of solution of equation e si"™x — 2e SiX = 2 js
a) More than 2
b) 2
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o)1
d) 0

Ans: (d)

If 2nd gth 44t terms of A.P. are 15¢,2™ and 3™ terms respectively
of G.P. and first term of A.P. is 1 , then the sum of first 20 terms of
A.P. is

a) 970

b) 916

c) 980

d) 990

Ans: (a)

Let the mean and variance of 6 observations a,b,68,44,48,60 be 55
and 194 respectively. If a>b then a+3b is

a)180

b) 190

c) 210

d) 200

Ans: (a)

120 | T x%sin Xcos X
The value of ﬂ—lfo (sin x)*+(cos X)*

- x| is

Ans: (15)

The number of ways to distribute the 21 identical apples to three
children so that each child gets atleast 2 apples is?

Ans: (136)



& Sri Chaitanya lnflmf‘}} 5’3%

T T, e e B W T T . T 000 g e of Excellence

* Educational Institutions | LECIN w0520
G e Y

HISTORY CREATED

SRI CHAITANYA STUDENTS SECURE TOP RANKS
in JEE ADVANCED 2023

ALL-INDIA OPEN CATEGORY RANKS
@: ‘)‘h ALL INDIA

I .
RANK ) r RANK .
.- , -;—'ih‘
VAVILALA CHIDVILAS | | y RAMESH SURYA THEJA | | /
H.T.No. 236165088 ! H.T.No. 236131371 !
CLASSROOM STUDENT ¥ CLASSROOM STUDENT
FROM GRADE VI -XII FROM GRADE VIl =XII

ALL INDIA ALL INDIA ALL INDIA \@;
V 7
A — Ay N
-J S of 4
RANK r ? |
| i“ . =
-
RISHI KALRA \ RAGHAV GOYAL B ABHINAV CHOWDAR | ,a
H.T.No. 237047209 H.T.No. 237020329 H.T.No. 236163128 4

AITS PROGRAM STUDENT ' CLASSROOM STUDENT : CLASSROOM STUDENT
FROM GRADE XII FROM GRADE IX =XII FROM GRADE IV -XII

Y 04066 06 06 06 Study With The Best, Rise Above The Rest. www.srichaitanya.net



